Pre-Calculus Lesson Plans - Unit 10 (Feb 13th to Feb 27th 2013)


Exponentials
	Date
	Lesson
	Assignment
	Did it

	Wednesday
Feb. 13
	Exponential Equations (Day 1)
	Worksheet  page 1
	

	Thursday

Feb. 14
	Exponential Equations (Day 2)
	Worksheet  page1
	

	Friday
Feb. 15
	Quiz Rat. Exp.and Rat. Eq.
	
	

	Monday
Feb. 18
	Holiday – President’s Day !!!!!
	NO SCHOOL (
	

	Tuesday
Feb. 19
	Exp. Eq. in Quadratic form 
	Worksheet  page 2 
	

	Wednesday

Feb. 20
	Graphing Exponential Functions 
	Worksheet  page 2


	

	Thursday

Feb. 21
	Graphing Exp. Functions 
	Worksheet  page 3


	

	Friday
Feb. 22
	Quiz Quad form and Graphing 
	
	

	Monday

Feb 25
	Exponential Word Problems

	Worksheet  page 4


	

	Tuesday 

Feb 26
	Work day and Review for Test
	Study for the test
	

	Wednesday

Feb 27
	Test Unit 10  Exponentials
	Print out Unit 11
	


Wednesday, February 13

Exponential Equations Day 1   


*Submit work and answers on separate paper
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Thursday, February 14

Exponential Equations Day 2

*Submit work and answers on separate paper
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Tuesday, February 19

Solving Equations in Quadratic form
*Submit work and answers on separate paper
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Wednesday, February 20

Graphing Exponential Functions – Day 1

Graph.  Be sure to graph the asymptotes. State the asymptotes, domain, range and intercepts.
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Thursday, February 21

Graphing Exponential Functions – Day  2
Graph.  Be sure to graph the asymptotes. State the asymptotes, domain, range and intercepts.
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Monday, February 25

Exponential Word Problems
1) Suppose that R% of people who respond to a newspaper ad for a new product and purchase the item after 

t days is found using the formula 
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a) What percent purchased the item after 5 days?  10 days?


b) How many days are required for 40% to respond?


c) What is the highest percent expected to purchase the new product?

2) If a single pane of glass obliterates 10% of the light passing through it, then the percent P of light that passes through n successive panes is given but the formula 
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a) How many panes are necessary to block at least 50% of the light?


b) What percent of the light will pass though 10 panes?  15 panes?


c) Can all the light be blocked?

3) The normal healing of wounds can be modeled by the formula 
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A

represents the original area of the wound and A represents the area of the wound n days following the injury.  Suppose the wound initially had an area of 100 square centimeters. 


a) If normal healing takes place, how large should the wound’s area be after 3 days?


b) When should it be half its original size?



c) When should it be 10% of its original size?

4) The total number of Americans who have contracted AIDS is approximated by the exponential function 
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 where t is time in years after 1989.  


a) How many Americans had been infected as of 1997?   2000?


b) Predict the number of Americans who will be infected by 2020.


c) During which year had the number of Americans who contracted AIDS reached 1 million?

5) Each year after he bought his new car, Mr. Smith kept track of the market value of the car.
	x = years after purchase
	1
	2
	3
	4
	5
	6

	y= market value
	12,000
	9600
	7700
	6200
	4900
	3900



a) Find an exponential model for this data.


b) Predict the value of the car when it is 10 years old.


c) Estimate the amount that Mr. Smith paid for his car.

6) The city of Sugar Land has been experiencing rapid growth.  

a) Determine an exponential model for the following data.  

b) Predict the year when Sugar Land’s population will reach 75,000.
	Years since 1980
	0
	1
	2
	3
	4
	5

	Population
	18,940
	21,150
	23,490
	27,570
	29,610
	35,480
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